### Custom Costumes

nathan quintana



#### problem

Inconsistent branding identity.

Lack of promotional material.

Audience is brought in through word of mouth.



Custom Costumes Inc Of Rochester and Tailor Maid

507-281-3777





#### Goals:

Create a cohesive branding identity.

Increase customer awareness in the Rochester area.

Increase amount of costume rentals and tailoring orders.

#### Objectives:

Deliver branding and marketing materials by Noon on April 21, 2014.

Increase costume rentals and tailoring orders by 10% in the 4th quarter of 2014 and 1st quarter of 2015.

#### target audience



Male business professionals (IBM and Mayo Clinic Associates) 35-50 years old, married and single.\*

#### **Secondary:**

25-40 year old male and female customers solely interested in renting costumes or purchasing make up/accessories.\*

\*Audience willing to spend the extra money on costume rental and suit alterations.





# ABCDEFGHIJKLMN abcdefghijklmn

Century Gothic



# ABCDEFGHIJKLMN abcdefghijklmn

Gill Sans MT









#### stationery





April 15th 2013

Costumes with a personal touch. 603 6th Ave NW Rochester, MN 55901 (507) 281-3777 Fax: (507) 287-4590

customcostumes@gmail.com

Nathan Quintana 1633 3rd Ave NE

Gent delujas skuci lum ese laborup praparmistis que as sudipuntars lur maiones quatas eum sedigin field podes si siminis eum sigui alta debri suaessismi labo. A sida con pli coresde cel luciono appea quatim qui hacusar desi filante. Nemposi est imm<sup>2</sup> Calendogiam a soli sequence delugara considera del lucia per qui se simini adrassi serrección un quen su rem adalidada, sociada el deferi timas.

Cepertam antenidos a que con poria deja desi dismipoche imaginar per casa.

Ellipas terremos estem quas magini es est aute suculo, quando supplir emporto est essi concris monocerego felho es leber baston operator deles coministante se que delso dels platem quando monocerego felho es leber baston operator delsos coministantes a quedos de odolipatores quando.

Lecum, algoriciendos permour, sedi, sape sicher epidestos eca dictinados, officimiento eos sum con more divididos edy, comis megistemas accus estimas, comás sentires imagestará quitar, cumción entrepatará Andesia monistratem fuguas susan men qualtur spatición este, ses eliptos, cumción entrepatará Andesia monistratem fuguas susan men qualtur spatición este, ses dojaves action estem nem commistram qui acurir inte si um his textas dojave valepata deplacas min da la plodos accurera weelfar menquinto param legisis andeman quas serios dipunsa-

Eperferspis Ilique eos ipicid et, officijsa venis minis si con nis nus ipicate eos magnatur molum in explabo riporecum doluptatus dis sendundit aligeni hitatis aut poreper ferisci istruptatur? Aximporisma qua pel orum esto omnimponi oblut quo desta dolorposi omnimus quid esquadit.

Um fugic, vellorum fugitios eseque se quis nimusan dundae quis es dunt aut ipsam quuntio. Parit, sequodic fuga. Ut aped quis es cullorempor sum velupissio. Lor molendae nobissunt hari te qui cuptatemque volupiatus et aperitectur adie es aut etur?

Pudandios non excepudae ommodic ipsunt quis exceribus, quibero vidit, omnis dolupis aut ipsum cor audit volorere magnistium (at atatur sam et que consedi picatet, id mod/acc uptatis et quaesto int a and di cum sitisi vol

Nathan Quintana



Rochester, MN 55901

Nathan Quintana 1633 3rd Ave NE Rochester, MN 55906





#### business cards (3.5" by 2")



#### costume tags (5" by 2")





#### product photography





#### product photography





















#### trifold brochure (11" by 8.5")





#### **TAILORING SERVICES**

Pant Hem

Lined Pant Hem

Cuffed Pant Hem

Prom Dress Hem

Plain Sleeve Hem

Lined Sleeve Hem

Pant Waist

Stride and Seat

Patches Zipper Replacement Pant/Skirt Zippers Dress Zippers Suit Sleeves Sides of Suit Coat Coat Hem Dress or Skirt Hem Coat Line Sleeves Coat Zippers

All other alterations not listed are time based. Shop fees are \$15-\$50 per hour depending on what you need done. Call us for more details!



COSTUMES WITH A PERSONAL TOUCH.

### **STORY**

Custom Costumes opened for business in 1980. Owned and founded by Carol Hughes, the business started from Carol's own house. Her first costume was inspired by Riff Raff and Magenta from the 70s cult hit The Rocky Horror Picture Show. Finding her own fabrics and wigs, Carol began our beloved costume shop with spandex, quilted silver fabric, hardworking determination, and just a jump to the left!

(507) 281-3777

Call us for all other inquiries! Located right off of Civic Center Drive

603 6th Ave NW Rochester, MN 55901



customcostumes.com



FURS • LEATHERS • COSTUMES • ALTERATIONS • DRESSES customcostumes.com



### WE CAN **DO IT!**

Alongside our incredible collection of Renaissance and Film costumes, we have a large variety of Egyptian styled regalia. When it comes to equipping your needs for costume or Halloween parties of any kind, we are ready to supply! With hundreds of custom accessories, we've managed to gather some of the best jewelry, masks, and headdresses around! If you're looking beyond renting a costume, you can also check out our collection of professional NYE makeup!

### COSTUME **RENTAL**

Custom Costumes is your premiere shop for all your costume needs. Our immense inventory features costumes spanning vast time periods and countless films. Almost all of the costumes we rent are hand made out of the finest materials. If you're looking to impress, this is the right place for you! Spend an afternoon window shopping through our decades of history and pop culture!

All costume rentals require safety deposits.

### COSTUME **DESIGN**

Looking for a costume that isn't in our shop? Come in with your ideas and we'll make your dreams happen! Our inventory can only get better with your costume needs. Whether you're looking to keep it forever or just rent it. Custom Costumes is up to the challenge. If you're looking for something hand crafted, or even your own gown for a Renaissance wedding, our doors are open. We've already got one Renaissance wedding under our belt. It's meant to be (or not to be!)









## gantt chart

PROPOSEI	GANTT CHART										SEMI	ESTER/	YEAR		Spring 2	014		
NAME	Nathan Quintana							PROJECT NAME				Custom Costumes I				Identity System		
CODE	PHASE	WK 1	WK 2	WK 3	WK 4	WK 5	WK 6	WK 7	WK 8	WK 9	WK 10	WK 11	WK 12	WK 13	WK 14	TOTALS		
1	Research/Ideation	4.00	4.00	4.00	4.00											16.00		
2	Project Proposal	2.00	2.00	4.00	4.00											12.00		
3	Product Photogr				1.00	5.00	5.00	4.00		4.00						19.00		
4	Image Asset Dev					3.00	2.00		2.00							7.00		
5	Copywriting Asset					1.00	2.00	2.00								5.00		
6	Layout Assembly						3.00	2.00	1.00	2.00		2.00				10.00		
7	Preflight										3.00	2.00	5.00	3.00		13.00		
8	Proofing/Editing				2.00		2.00		2.00		1.00		5.00			12.00		
9	Administrative	2.00	2.00	2.00	2.50	1.00	1.00	2.00	2.00	2.00	2.00	2.00	4.00	3.00	3.00	30.50		
10	Other										3.00			5.00	3.00	11.00		
11																0.00		
12																0.00		
	TOTAL HOURS	8.00	8.00	10.00	13.50	10.00	15.00	10.00	7.00	8.00	9.00	6.00	14.00	11.00	6.00	135.50		

FINAL GANTT CHART												ESTER/	YEAR	Spring 2014			
NAME	Nathan Quintana							PROJECT NAME				Custom Costumes Identity System					
CODE	PHASE	WK 1	WK 2	WK 3	WK 4	WK 5	WK 6	WK 7	WK 8	WK 9	WK 10	WK 11	WK 12	WK 13	WK 14	TOTALS	
1	Research/Ideation	4.00	4.00	4.00	4.00											16.00	
2	Project Proposal	2.00	2.00	4.00	6.00											14.00	
3	Product Photogr					2.00	2.00	2.00		7.00						13.00	
4	Image Asset Dev					2.00	2.00		2.00							6.00	
5	Copywriting Asset															0.00	
6	Layout Assembly						2.00	2.00	1.00	1.00		4.00				10.00	
7	Preflight										1.00		4.00	5.00	8.00	18.00	
8	Proofing/Editing				2.00		2.00		1.00		2.00		3.00	4.00	5.00	19.00	
9	Administrative	1.00		2.00	1.00	1.00	1.00	2.00	1.00	1.00	3.00	4.00	2.00	3.00	6.00	28.00	
10	Other															0.00	
11																0.00	
12																0.00	
	TOTAL HOURS	7.00	6.00	10.00	13.00	5.00	9.00	6.00	5.00	9.00	6.00	8.00	9.00	12.00	19.00	124.00	

#### budget



Estimated: 135 hours 30 minutes

Final Total: 124 hours.

#### Labor costs:

Estimated Labor Cost: \$3832.50 Final Labor Costs: \$3430.00

(\$402.50 under budget)





\$243.10
\$284.00
\$35.92
\$266.00
\$619.95
\$1071.97
\$1475.28
\$1920.00

#### **Total Production Cost:**

Estimated Total:	\$9748.72
Production Total:	\$9346.22

## Thank you

